
Test 1 Test 2

1) ~ of 12 is 6
1) 3/4; three fourths

~ of 16 is 12

2) 1/5; one fifth

2) 3) 3/6; three sixths

3) 15 + 3 = 5; 5 x 1 = 5
4) 4/5; 5 sections, 4 shaded

4) 20 -i- 5 = 4; 4 x 2 = 8
5) 1/3; 3 sections, 1 shaded

5) 16 -i- 8 = 2; 2 x 1 = 2
6) one half; 2 sections, 1 shaded

6) 8 -i- 4 = 2; 2 x 3 = 6
7) 25 + 5 = 5; 5 x 2 = 10

7) 10 -i- 2 = 5; 5 x 1 = 5, 8) 80+10=8;8x1 =8

8) 36+6=6;6x3=18
9) 42 + 7 = 6; 6 x 3 = 18

9) 49 + 7 = 7; 7 x 2 = 14
10) 81 + 32 + 81 + 32 = 226 yds

10) 40 + 5 = 8; 8 x 4 = 32
11) 28 + 28 + 28 + 28 = 112'

11) 8 + 5 + 8 + 5 = 26"
12) 3/5 of 35 = 21

12) 24 + 12 + 24 + 12 = 72'
13) 10 + 10 + 10 + 10 = 40'

13) 55 + 32 + 55 + 32 = 174"
14) 1/5 of 40 = 8'

14) 18+6=3;3x1 =3.
15) $16.45 - $5.30 = $11.15

15) $14.58 + $6.75 = $21.33.

16) $25.00 - $21.33 = $3.67

17) 14+7=2;2x2=4.

18) 12 + 15 + 12 + 15 = 54'

Test 3

1) 1/6 + 4/6 = 5/6 or five sixths

2) 3/4 - 1/4 = 2/4 or two fouths

3) §.
5

4) §.
6

5) JL
10

6) ~
8

7) §.
9

8) 1
3

9) 24 + 8 = 3; 3 x 1 = 3

10) 10+5=2;2x4=8

11) 20+10=2;2x4=8

12) 54 + 59 + 98 = 211'

13) 12 + 8 + 12 + 8 = 40 yds

14) 16 + 16 + 16 + 16 = 64"

15) 1+~=1.
6 6 6

16) ~ -~ = ~

17) 12 + 4 = 3; 3 x 3 = 9

18) 1+~=1.·
6 6 6

3/6 of 12 = 6

19) ~-%=~
3/6 of 12 = 6

20) $15.50 + $5.25 + $10 = $30.75

Test 4

1) ~='§'=JL-g- 15
4 8 12 - 16 - 20

2) 1 = ~ = 2... -...1-
5 10 15 - 20

3) §. = 1Q = .1§.= 20
_6 12 18 24

4) ~ = ...2...= JL - 1.£.
7 14 21 - 28

5) 1 _ 2 3 4
2-4"=6"='8

6) ~
5

7) L
8

8) 1
9

9) 48 + 8 = 6; 6 x 3 = 18

10) 18+6=3;3x1=3

11) 27 -i- 3 = 9; 9 x 2 = 18

12) 682

13) 594

14) 7,084

15) ~= %
16) 1/2 of 20 = 10 or

214 of 20 = 10

17) 13 x 12 = 156

18) 11 + 11 + 11 + 11 = 44'

19) ~ +~ =.§. read
7 7 7

?.. - .§. = ~ left
777

20) 217 of 56 = 16
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